Gravimetric analysis

1. A 0.051 M solution of Ph{NOs):is reacted with excess NaCl solution to produce 0.296 grams of solid PbCl,. What

is the original sample volume of Pb(NOs)z used in the reaction? | A ﬂ)#
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2. A 2.00 gram sample of a compound containirf Ba** ion was treated with excess sulfuric acid in order to L Z&RML» .

precipitate out all of the banum sulfate as BaS0a. If 1.121 grams of BaSQ0,, what is the percent mass in the

original sampte? \ S e
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3. A 0.654 gram sample of impure salt was dissolved in water and reacted W|th excess AgNQ;, forming 1.26 g of
AgCI What is the percent of NaCl in the impure sampie? ; RS A OD§I%e i @i :}%‘w\j;
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4. Determine if the effect of the errors in the M ﬁarity in each case in relation to the Grawmetric Analysis of Flint
water lab. Explain.

a. Whlte material is present in the filtrate (liqmd below filter). _ o PbC];
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6. Onthe diagram to the right. Label, an ions present in the filtrate,

PL(NOs), rafal 1= PECL f?f\//;t/\%)ﬁ
ul ”'

PG LLIOUS
(ORS)




States of matter Lab practice questions

Butane Lab

1.What is the pressure of a sample of oxygen that is collected over water at 27°C if the total pressure of the sample is
778.2 mmHg? (Vapor pressure for 27°C = 23.8 mmHg)}
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2.Find the molar mass of an unknown gas if 0.339 g sample of the gas has a dry pressure {(vapor pressure has been
accounted for already) of 743.5 mmHg, a volume of 527mL at a temperature of 23°C. o\
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3.If the water level inside the graduated cylinder was higher than that outside the cylinder: '

a. What would be the effect on the pressure of the gas in the cylinder?
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b. What would be the effect on the resulting molar mass of the gas calculation?
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4. Give an example of experlmental e’rror in the butane laband expia:n the effect on the calculation.
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5. Tank A holds 1000 grams of propane CsHg and tank B holds 1000 grams of methane, CHs. Which tank holds more
moles? Show the calculation for each.

(il tontbelds, |
VWD e Wﬁ{i}\faﬁ éj ]

¢
{
L.




| lab preview.notebook

January 30, 2017

Bu;\’&V\.,Q_ L olb

25

Q.

p-£
A

Thunkt -\-"Hnr'oltl)\r\
pﬂ)’r‘@»gz Pau,,

L

V’P duu?-

Fov crg Fyav!

@ /?\ T E u}arar‘&)

A. yusl ch) 60\5’(\

nNT, J

hb\ar
WAKSS

[ ‘ ASS




